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(I\ Same Coefficients

l> 2X+5Ej:‘7
- 21X Y = 5

’75 O.IZX'\'Zj:—IO

Z Y —l—2\j = - 10

S\,s+ems \ox! Elimination

45 —4x . = 9
4)(-\-2[13:-—(0

o X —2u=5
) —3x+£%=—9

L) 3x-9y=-5|
) 3x—7%==—37
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‘ Zx+5y=-1I 2> 3X—\-(o§5=Lo

B x+233=o ZX—sz4

3> 4‘X-—-nj:(0 43 gx_qt{:'q
3x"'2tj=2‘ 4Y+H:—,7

5> “><+8nj:—?52 b) r1x+3j:25
3X-j:27 "23(-—3:-—8

™) X+ 8y= 128 8) —bx+12y= 120



Algeloral_ qufems b\{ Elimination
(E\ bl"ﬁterenf COQ)@)Cth?‘S’*/L/d/t{'pIy Two Fgua'tr'ons

I> 4)(-—33: I 2) 3)(—#—83 =&
3X-5g:f\| 5)(—-(01\.1:"39
3) bx+3y= 27 4) Sx+dy=l2
"4X-\-7«j=27 3X—23'—‘8

5) Zx—qﬂ:.q b> 3)(—\-53:"8
8x+6‘j=(aq 12x—33=3

1) Bx-lys= 4% 8) 4x-3y=17

2)(-\—531*3 5X—I-4<j=(pb



